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for (i=a ; i<=Db; i=itk )
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for (i=l ; 1<=n; i1=1+1)
X=x+1;
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for(i=2 ;1<=n-1; 1=112)
X=X+1;
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for (1=2 ;1<=n;1=1+4)
X=x+1;

for(i=0 ; i<n’; i=i+2)
x=xt+1;
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1= n;
while (1 >=1){
X =Xx+t1;
1=1% 2;
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for (1=l ; 1<=n;1=1%2)
x=x+1;
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for(i=n;1>1;1=1/2)

x=x+1;
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1=n;
while( 1>1) {
X =X+1;
1=1/2;
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for(i=n;i>1;i=1/3)
X=x+1;
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for (i=l; 1<=n;it++)
Xx=x+1;

for j=1; j<=m; j++)
X=x+1;
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for (i=0;i<=2;i++){

for (j=1;j<4;j++) {

}
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for (1=1 ;1<=n;it++)
{
for (j=1;j<=n;j++)
{
Xx=x+1;
h
n=n-1;
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for (i=1; 1<=n;1++)
for (j=1; j<=71i;j++)
x=x+1;

U

n(n+1
el O(17) 4 ye ol ol 7:{% b cowl plp X=XHL jgrws ST Slads olaas




AS jasio |, X=XFLG jeiws ol as e
for (i=l ; i<=n ; 1++){
k=n;
while (k>1)
d
k=k/2;
X=x+1;
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for( i=l ; i<=n; it++)
{
for (j=1; j<=m; j++)
X =x+1;
for ( k=1 ; k<=p; k++)
X =x+1;
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for (i=1; 1<=n; 1++){

for j=1; j<=m; j++)

X =X+1;
i=L
while( j<=n ) {

x=x+1;
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1=n;
while(i>1){
1=1/2;
j=n;
while (j>1) {
J=i/3;
X=x+1;
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for (t=1;t<=n-1;t++)

{
for (i=1 ; i<=n-t; i++)
=it
for (k=1;k<=j-1; k++)
x=x+1}
!
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for (i=1; i<=n;it+)
for (j=1; j<=n;j+H){
x=x+1;
x=x+1;
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for (i=1; i<=n;it++)
for (j=1; j<=1:j++)
x=x+1;

for (k=0; k<=n-1: k++)
for (i=1; i<=n-k ; i++)
X=x+1;

for (i=1; i<=n’;i++)
for (j=1; j<=1;j+4)
Xx=x+1;

for (i=1; i<=n’;i++)
for (j=1; j<=logn; j++)

Xx=x+1;
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for (i=1; 1<=3;1t++)
for (j=1;j<=1:j++)
for (k=1; k<=j ; k++)
for (m=1; m<=k ; m++)
x=x+1;
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